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@An individual is presented with three different glasses of soft drink,
labeled A, B, and C. He is asked to taste all three and then list them
in order of preference. Suppose that the same soft drink has actually
been put into all three glasses.

(a) How many outcomes are there in this experiment? What proba-
bility would you assign to each one?

(b) What is the probability that A is ranked first?
(c) What is the probability that either B or C is ranked first?

(d) What is the probability that A is ranked first and B is ranked
last?
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9. JStatsCan surveyed one hundred Canadians and found that 60 of them
exercise regularly, 75 of them eat healthy diets, and 45 of them do both.
Complete the following contingency table using the above information

exercise regularly | don’t exercise regularly | total

healthy diet H_ I—f— =
unhealthy diet S- 3 3 o

total — \)./'
(a) If one of these Canadians is selected randomly, what is the prob- ﬁ \ S/
ability that this person exercises regularly but does not eat a
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healthy diet?

(b) If one of these Canadians is selected randomly, what is the prob-
ability that this person exercises regularly or eats a healthy diet?



T2 Disagele Kandom \anables

Rondom \/O\ﬂld\\oxﬂ; Agg;?m oo I
lo eaCln omjr@m@, OF O eXPﬁF\l/\Mr\%‘u

{?3‘ ><‘: ﬂ oaL L\QA(JS 4,\/\“%.

aQpens in 3 codn JesSeS.

@an&iM$7 I%S%\Eukcpxl A dable

‘Hf\&k‘}“ lisks  Hae \/&LWS.OJVJ X
anch  Thei \?r\@ba\ol\\liﬁ‘f’5~

£Z<_f X;—, + ok l’\eﬁJj WLL\M’ a()gfa/

N 3 G\n URIPSE

M

TH w\\ X | PO Lo
AR e |
BT O | 0125 Wusl
TWT 2 O, 3 9-3"

BT 3 O-\23




£_><_:» Ao vndair die has a
C\/\J\A(,Q o{' {"O“/\]Q
)

a | A

)

clnte of ol N 6) ond o
— choale of ro\lrmﬁ oy sther

o X= He numb rolled.

Frd He pebabiihy dishbudien

+able
X P

|

—_—

)
7 \/Z
SV
4 |V
< } /L
o 2

?]:?Qz pm A\O M A S%\auk%

H\L ()[blo/\ \ x\f’S loj\
(105°)-)



"-——_———5




O3, +k + 029 = |

L 0.bS = |
o
= /\5\“ \\NLS
Pm\gﬂ\o l SO\Clﬁ \/M O&L
£ ﬂﬂ@m f v‘j%mes
\\4@\7
- ble
LQ*F A\ ,Eis Pm]o/\lﬁ
DDL(\)OLA\%
‘Q\r Mo (o etk &3)
Tob vooH
Vo Job} g

(SeCivon G- 1>



robabls (N v

if\w&n( Xre\y —

OJ\Q LJ\rY\m\ f |2 LQ,S%

Pm\mlo%\fl\q S OSe A
Andu a Gwe

We Il use 4 \/\Ji\oJoﬂ)eOQ

calelaler o Con P T
hf)mbk LY \A\“fgj



Ex s Yk Vorable
disgele o GRavous 7
d:>'*LQ M ASS of oo
4ﬁX¥Eook,(&ﬁ;)

COﬂJ7WRMA©mS
O be 32180, kﬂ

b) H\e (pjjr ojr N
#ﬁ%%BOOk (ﬁ$>

DlsScfeTEe
C("%PY he I 2 /ng'b&, \/A\\/\Qj_

C) #H% ﬂdwiﬁ/'a4 €
A )/\t% M%S 778

ID\S(ICEeTe

J)”H% @WNwd%'O% Wﬁ\k

a v prodw
Q)‘MNM%&S<QJ



